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mass (Tg, as N)
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Call transform_halogen and chemistry ctl
(with no call to hetero routines) only
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Call transform_halogen and chemistry ctl
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mass (Tg, as N)
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Call transform_halogen and chemistry_ctl
(with no call to hetero routines) only
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Call transform_halogen and chemistry ctl
(with no call to hetero routines) only
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(with no call to hetero routines) only
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mass (Tg, as N)
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mass (Tg, as N)

Call transform_halogen and chemistry_ctl
+2.468e—2 (with no call to hetero routines) only
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Call transform_halogen and chemistry ctl
(with no call to hetero routines) only
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Call transform_halogen and chemistry_ctl
(with no call to hetero routines) only
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mass (Tg, as N)
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Call transform_halogen and chemistry_ctl
(with no call to hetero routines) only
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Call transform_halogen and chemistry ctl

0.08 (with no call to hetero routines) only
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Call transform_halogen and chemistry_ctl
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Call transform_halogen and chemistry_ctl
(with no call to hetero routines) only
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Call transform_halogen and chemistry ctl
(with no call to hetero routines) only
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mass (Tg, as N)
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(with no call to hetero routines) only
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